Béeo 1/

Tip: Fasten 80% of all the screws, make them 100% fixed after checking all correct!

M6*35 M6Nut
Machine head Rotary buckle

M6ENut M6*35
Rotary buckle ‘ .] Machine head

I ‘II
\I'l I

Plum \
blossom

screw

installation

Fi)(ed —
)
guardra” lﬁ lill III\

Accessories:

1.M5 * 25 screws 2PCS

2.M6 * 35 screws 6PCS ( crib )
3.M6 * 30 screws 4PCS( caster ) e
4.Plum blossom screws 2PCS Mosquito net rod
5.Wrench set

6.Large casters 4PCS

7.M6 nuts 6PCS

8.Hanging iron 6PCS

9.M6 * 45 screw 4PCS, M6 two in one nut 4PCS

M5*25

Baby crib installation drawing

Matters needing attention

1.Please pay attention to the danger of legacy items in bed.

2.When the baby is in bed, make sure that the protective barrier is closed and locked.

3.When using this product, the caregiver must not leave to avoid danger.

4.The age range of this product: 0 ~ 3 years old, the maximum bearing capacity of 40 kg, not overweight.

5.This product shall not be used near the fire source and other heat sources ( such as heaters, gas heaters ), in order to
avoid danger.

6.When the bed board is too wet due to natural or man-made factors, please put it in a cool and ventilated place to dry
naturally, it is forbidden to insolate in the sun, avoid the deformation of the bed board

7.1t is recommended to use with mattress.

8.The product assembly is completed, need to adjust the position of each component is correct, and then lock the
screws, confirm all accessories fastening without loosening, before using this product.

9.The product installation is completed, please handle the packing such as binding tape in time, can not be used as
baby toys, prevent accidents.




